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(25%) Determine the transfer function (from R to Y ) of the following system.

Ge
R ++ y

+ G, G, Gs ——>O——>»

v

\ 4

A 4

Gs

A

Ga




o)

Iy
~m
S+
Iy
~m

2. (25%) Apply Routh’s stability criterion to determine the range of K such that the

closed-loop system is stable.
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3. (25%) Draw the root locus of the following system and determine the departure/arrival
angles and/or break-in/break-away points if applicable.
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(25%) Draw the Nyquist plot of the following system and determine the range of K for

which the closed system is stable by using Nyquist stability criterion.
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